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(Hindi & English Version)
[Total No. of Questions- 19] [Total N % Pages : 06+1]

{Time : 03 Hours] . ximum Marks : 70]

(1) Tl w5 gl Fe1 A el % ;
(2) wH 7 01 047% 1X28 31 fyffta 2

(3) 4%, 050 12F3 W?ﬁWBOWE?!
(4) 547 1339 16 % O T 75U R
(5) 947 17 HFE A F o170 1120 71= 2l

(6) 517, 184 1 i 21 5 31 1 21 9753 |iH1 150 353 8

Instruction :-
(1) It i
(2) Que:
(3) Questibn no. Questions from 05 to 12 carry 2 marks each, Word limit is
30 words. . )
(4) Qucsti:m ndJQucstions from 13 to 16 carry 3 marks cach. The word linut

ulser¥ to attempt all the questions.
no. 01 to 04 arc objective type questions carrying 1X28 marks.

is 75 words.
(5) Question no. 17 is the number 4. The word limit is 120 words.
{6) Question no. Questions 18 to 19 carry 5 marks cach. The word luntt 1s
150 words.
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Q 2. Fill in the blanks ‘ it
(a)On mcrca:.m;., s the tunpcmlurc lht, clasucnly of lhc mz.ltcnal . T

{b) Thc momentum of the photon 15 i

() Charles's law is apphcablc fol i i P

(d) Tln nmc pcnod of a simple pcndulum docs not dc,p_w‘“‘:‘E o

ﬁar?
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(a) force/mass - ‘
L ) MIPT AT  Onex ‘0 ‘”Joules
504 gl (")Mass
- (c)leV
; 4(‘“) mdmn

(d) measurement of memd?- i ‘ .
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)Eﬂ l Choose the vairevtoplien and wnte

V(Lti'}_\\'lm‘h phyvateal quantity does notattect the speced of soune s aie?

? () temperature (1) pressure

N . . ‘

o) Humad (v) Wind velocity,
4

KN Calorumeters are made-
() silver (i) 7inc

(i) of brass (iv) of copper.
' (¢) Which of the following is the most viscous? |
(1) air (11) water

(ii1) Blood (1v) Honey.

| (d) If the radius of the carth shrinks by 1% but its magsTemains the same, then

the value of acceleration due to gravity on t h will be-
(i) will decrease (i) will 1 nge
(i1i) will increase bv) ing 1s possible.

:
(¢) The center of mass of the sphere Js-
(i) at its circumferefice (ii) at its geometrical center

(ii1) outside t% & (iv) inside the sphere.

(f) An arrow rcledsed from a bow has-
(1) potential energy (i1) kinetic energy
(iii) Frictional force (iv) Gravitational force.

) Non-conventional source of encrgy is-

(i) sound energy (it) light energy
(3i1) Wind energy (iv) Mechanical energy.
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i.\) 1. Chovse the conedt ophion and wiite-
: {a\ W hich physical quantity does not afteet the speed of sound in air?
(1) temperature (i1) pressure o,
(iti) Humid (iv) Wind velocity. o
)
¢
(h) Calorimeters are made~ ,?
. (i)vilver (ii) zine " %
(ii1) of brass (iv) of copper. E
z ‘ ; |
(c) Which of the following is the most viscous? | |
| ()air - : (i1) water ‘ : ¥ "j ‘ :3|3  [
(iii) Blood (iv) Honey. | Al
|

,—l:‘.(d) If the radius of the carth shrinks by 1% but its mass remaing
"R, '~ the valuc of acceleration duc to gravity on the earth
- (i) will decrease (i1) will not cha

: (ii1) will increase (iv) anythingsis possible. i

(i) kinetic energy
(iv) Gravitational force.

_. (l) sound energy (ii) llg,ht encrgy :
(i) Wind encrgy ) Mechanical energy.
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32, > blanks .
( k;]al)lnOI':I:nl:mlsln;, the temperature, the clasticity of the material is ...
(b) The momentum of the photon is
(¢) Charles's law is applicable to
(d) The time period of a simple pe

needl, e

-------------

ndulum docs not dcpcnd n ... bk

i) ?aké 4 of 8 LA

(¢)Incrtiaisa.....ooeennnnns quantity.
() 1 kilowatt hour s ......... joules.
(h) The center of mass of a urcular rmg JS P TP
W 3. Wl A TR | [1x7 7
EYTEEEE . wd (i) 16X 10795
@ MEPTT] N\ (if) 5T
@iV Ca® G e ;
GEZIE: it S
(F) ATTHf=d (vi) Frofg g -
. (IR - (vil) Treehr A Ry e
Q 3. Match the correct pair- T RE A S DR b
(a) force/mass : (l)ll6x 10;19 Silas
(b) [ML*T™?] (i) Mass’; ,-..J 3
() Masg " 1
((3 o fi i .(iii)'i"tdiar/x" il
measurement of inertia
(¢) angular displacement ' ((W) rcm()vd] of eream from milk
o v) conservation of cnerp
+ (f) centrifugal 5 (Vi) gl Crey
_ (b) Interference it (v")(“mmu nuntum’
o , " Al R onul lwld intensity Ntk
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